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The figures in the margin indicate
full marks for the questions.

Answer any five questions.

1. Briefly answer the following questions:
(any ten) 2x10=20

() What is the need for agent
advertisement ?

(i) What is the difference between hard
handover and soft handover ?

(i) What is COA?
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(b) What is Mobile database system ? What
are the query types in MDS? Give
example for each. 3+6=9

7. Write short notes on the following:
(any two) 10x2=20
(i) Localization and calling in GSM

(ii) Adaptive clustering for Mobile wireless
network

(i) Mobile agents computing
(iv)
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